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Level 3 Geography, 2017
91426 Demonstrate understanding of how interacting 

natural processes shape a New Zealand 
geographic environment

2.00 p.m. Wednesday 22 November 2017 
Credits: Four

Achievement Achievement with Merit Achievement with Excellence
Demonstrate understanding of how 
interacting natural processes shape a 
New Zealand geographic environment.

Demonstrate in-depth understanding 
of how interacting natural processes 
shape a New Zealand geographic 
environment.

Demonstrate comprehensive 
understanding of how interacting natural 
processes shape a New Zealand 
geographic environment.

Check that the National Student Number (NSN) on your admission slip is the same as the number at the 
top of this page.

You should attempt the question in this booklet.

If you need more room for any answer, use the extra space provided at the back of this booklet.

Check that this booklet has pages 2–10 in the correct order and that none of these pages is blank.

YOU MUST HAND THIS BOOKLET TO THE SUPERVISOR AT THE END OF THE EXAMINATION.
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Achievement

04

No part of the candidate evidence in this exemplar material 
may be presented in an external assessment for the purpose 

of gaining credits towards an NCEA qualification.





















     

Subject:   Geography   Standard:   91426   Total  
score:  

A4  

Q   Grade  
score   Annotation  

Interaction  
of  

processes  
to  shape  a  
feature(s)  

A4  

Setting:  Tauranga  Coastal  Environment  (TCE)  
The  candidate  gained  a  high  Achievement,  as  they  demonstrated  
a  solid  basic  understanding  of  several  processes  that  interacted  
within  their  named  geographic  environment.  This  provided  sound  
evidence  that  the  candidate  understood  the  focus  of  the  question,  
and  they  also  comprehended  the  importance  of  the  operation  of  
interacting  natural  processes  form  a  feature.  However,  the  
candidate  could  not  achieve  Merit,  as  their  process  analysis  and  
reasoning  lacked  depth  overall.  The  response  also  lacked  detail  
case  study  evidence  with  little  reference  to  the  TCE  being  made  
throughout,  as  well  as  processes  being  described  rather  than  
explained  in  detail.  

  




